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1. Whether computation of RES for authentication is based on root key (e.g., Kaiot ) or based on a bootstrapping key (e.g., Kaiotf).

NOTE1: If root key is not used directly, this means key bootstrapping is needed to generate Kaiotf that is used for authentation.
2. Whether replay attack needs to be considered if there is only one command request after every inventory procedure.

NOTE2: Replay command request means also replay of the inventory procedure and that the replay of inventory procedure is successful.
3.Whether authentication is explicit or implicit.

NOTE3: Explicit authentication requires MAC for authentication and a MAC for command request message.  Implicit authentication means if MAC for the command request message is verified, then the authentication is considered successful.
4.Whether a second network generated RAND is needed for generating the MAC for explicit or implicit authenticaton and the session key for communication protection.
5.Whether device generated RAND is needed.
6. Whether network RAND is generated at the ADM or at the AIoTF.
7. Whether MAC is needed in the paging request to prevent replay attack.

8. Whether ADM or AIoTF performs RES comparison.
NOTE4:  This means either a) ADM performs RES comparison then returns result to AIoTF  or b) ADM returns XRES to AIoTF, AIoTF then compares RES against XRES.
